


The 50:50 will hide 2 wrong
answers

Instructions

15 @ £1 Million

o @ @ @ Just for teacher — change all the editable

o o s20m questions and answers on every slide
before starting quiz.

9 @ £16,000
8 @ £8,000

1) To select an answer click the yellow
circle next to the answer.
What part of the digestive system tears, cuts >_

and grinds food?
2) The answers will fill red or green if
_< NS st >—<°B: _ >_ they are correct or incorrect.
3) When the right answer has been
[ C: Salivary Glands .. D: Pancreas

revealed and discussed students click
the green arrow to reveal the next
questlon.

START!
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Insert
correct

° C. Insert wrong
*answer here.
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Enter £200 question here.

eInsert wrong
*‘answer here.

oA

° C. Insert
* correct
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Enter £300 question here.

P A: Insert

correct

.D: Insert
wrong
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Insert
wrong

o A:

. Insert
®
[)' correct
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Enter £1000 question here.

P A: Insert

correct

.D: Insert
wrong
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Enter £2,000 question here.

., Insert wrong
* answer here.

° C. Insert
* correct
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Enter £4,000 question here.

° C.Inser't wrong

.D. Insert
*‘answer here. °

correct
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Insert
correct

.D: Insert
wrong
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Insert
correct

.D: Insert
wrong
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Enter £32,000 question here.

Insert

|). Insert
o
correct *

wrong

here.
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Enter £64,000 question here.

., Insert wrong
* answer here.

P A: Insert

correct

here.
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Insert
correct

° C. Insert wrong
*answer here.
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Enter £250,000 question here.

eInsert wrong
*‘answer here.

oA

° C. Insert
* correct
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Insert
wrong

o A:

. Insert
®
[)' correct
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15 @ £1 Million
14 @ £500,000
13 @ £250,000
12 @ £125,000
11 @ £64,000 NExT
10 @ £32,000
9 @ £16,000
8 @ £8,000
7 @ £4,000
6 @ £2,000
5 @ £1,000
4 @ £500
3 @ £300
2 @ £200
1 @ £100

Enter £1,000,000 question here.

., Insert wrong
* answer here.

° C. Insert
* correct






